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QUESTION 1

Refer to the exhibit.

NAME Priority Target Address
_sip._tcp.sample.com 10 serverl.sample.com

_sip._tcp.sample.com 10 serverZ.sample.com

_sip._tcp.sample.com 5 server3.sample.com

An administrator must fix the SRV records to ensure that server 1 .sample.com is always contacted first from the three
servers. Which solution should the engineer apply to resolve this issue?

A. Priority = 100. Weight = 90
B. Priority = 5. Weight = 70
C. Priority = 10, Weight =5
D. Priority = 10. Weight =10
Correct Answer: B

Priority checked first. Lower value priority is More Preffered. If there\\'s a tie in priority, higher value weight is More
Preffered.

QUESTION 2

Which two features of Cisco Prime Collaboration Assurance require advanced licensing? (Choose two.)

A. real time alarm browse

B. multicluster support

C. call quality monitoring

D. email notifications

E. customizable events

Correct Answer: BC
https://www.cisco.com/c/en/us/td/docs/net_mgmt/prime/collaboration/11-6/assurance/advanced/guide/cpco_b_Cisco-Pri

me-Collaboration-Assurance-Guide-Advanced-11-6/cpco_b_Cisco-Prime-Collaboration-Assurance-Guide-
Advanced-116_chapter_00.htmI#ID8

QUESTION 3

A company wants to provide remote users with access to its on-premises Cisco collaboration features. Which
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components are required to enable Cisco Mobile and Remote Access for the users?

A. Cisco Unified Border Element, Cisco IM and Presence Server, and Cisco Video Communication Server
B. Cisco Unified Border Element, Cisco UCM, and Cisco Video Communication Server

C. Cisco Expressway-E, Cisco Expressway-C, and Cisco UCM

D. Cisco Expressway-E, Cisco IM and Presence Server, and Cisco Video Communication Server

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/CVD/Collaboration/enterprise/12x/120/collbcvd/edge.html

QUESTION 4

Which attribute contains an XMPP stanza?
A.iq

B. message

C. type

D. presence

Correct Answer: C

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/apjc/docs/2011/pdfI TECUCC-2611.pdf slide 18

QUESTION 5

Refer to the exhibit.

admin:utils ntp status
ntpd (pid 17428) is running...

remotea refid st t when poll reach delay offset jitter
o . 0 57 - 6 e ¢ 17.253.14.125 2 38 604 3 0.456 -0.236 0.11e
*192.168.1.2 17.253.14.125 2 u 38 64 3 0.817 -0.69%5 0.395

A collaboration engineer needs to replace the original, single NTP server that was configured during the initial install of a
Cisco UCM server. What is the first step to accomplish this task?

A. Stop the NTP service on Cisco UCM.
B. Enable NTP authentication for the new NTP server on Cisco UCM.

C. Restart the NTP service on Cisco UCM.
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D. Delete the original NTP server from Cisco UCM.
Correct Answer: D

If you look at the exhibit on the "utils ntp status”, it shows two original servers installed. And if you ready the question
carefully, there is a "," after "original,”, which means, from two original NTP servers, only single NTP server needs to be
delete. So you can delete a single NTP server from the two listed NTP servers. However, even if there is only one
server, you can\\'t enable authentication for the new NTP server, you need first add it, then enable it with command
“utils ntp auth symmetric-key enable” which you get prompt to select for enable the authentication for the listed

servers:

admin:utils ntp auth symmetric-key enable At the end, nothing in the question mentioned about NTP authentication, as
you can see authentication report with the following command: admin:utils ntp auth symmetric-key status
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